fr containg 4 printed pages, Roll No. R\HO\B ...................
B.Com. (Part-II) Accy. & Bus. Stat. - 11

2138-1I 108471

B.Com. (Part-11) EXAMINATION, 2023
(104243 Pattern)

[ FACULTY OF COMMERCE ]
ACCOUNTANCY OF BUSINESS STATISTICS-II
(Cost Accountancy)

Paper-11

Time Allowed : Three Hours i Maximum Marks : 100
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No suppiementary answer-book will be given to any candidate. 11ence the candidates should write the answers

precisely in the main answer-book only.
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All the parts of one question should be answered at one place in the answer-book. One complete question should
not be answered at different places in the answer-book.
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Attempt any five questions. Selecting one question from each unit. All questions carry equal marks.
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Questions have been set in English and their translation in Hindi has been appended for the convenience of the
candidates.
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Write your roll number on question paper before start writing answers of questions.

¥ F I forgd @ F¥T -7 W AT TR 7G99 7@ |

UNIT -1/3ehTS - I

1. Explain different techniques and methods of costing.
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2. Record the following transactions in the stores Ledger Account of X [ td.
15 January, 2012 Receipt 250 units costing T 312.50
21 February, 2012 Receipt 100 units costing ¥ 130
24 March, 2012 Receipt 50 units costing ¥ 67.50
5 April, 2012 lesue 56 units

19 April, 2012 Receipts 50 units costing ¥ 70
26 April, 2012 [sgue 300 units

3 May. 2012 Isgues 40 units ™ 4150
The issues on

Lmay, 2013 it yar 3 20 26 April, 2012 were

; BH &) priced at LIRO anB BIO bacie i o i :
: twas decided to price the issue at, Weighteg AV‘G‘?%S‘%};I&EO basis respectively, as from
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15 SFERY, 2010 wift 260 THIEET « s € 312.50

21 weEd, 2012 Wif|@ 100 geTeal ;s # 100

o4 misd, 2012 uifid 50 gl SR € 67,50

5 srde, 2012 Flwa o g

1o ardE, 2012 W 50 FHTEET : TR R 70

o5 ardE, 2012 P 300 THEAT
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S B 5 9T, 2012 T 25 axw, 2012 1 SHAN: LIFO 91 FIFO 2714 T fan 71 o1 | 1 9%, 2012
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3¢"  There are 3 employees A, B and C in a factory. Standard time allowed to do a jobis 60 hours. Hourly 20
rate T 18 per hour. Actual time taken A-62 hrs, B-40 hrs and C-28 hrs.
Calculate their wages according to:
@  TimeRate Wages 0 \
1)} Piece Rate System .
i) RowanPremiumplan 4+
@av) Halsey Premium Plan '_‘," %e
TS SREM § 99 9w A, B 921 € ¥13% 1@ & & T[T 60 yo19 woe feu 73 ¥ wfg a1 22 718 ¥
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4. What do you mean by ‘Absorption of Overhead’ ? Explain different methods of absorption of factory 5+13
overhead.
ez & ST § 319 F1 THgd ¥ 7 Hramn sl F saeiye 5 iy fafwl s ok sifs)
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5. Rajas?hai Tlfanspon’ (Jo.mpar;‘y, l‘la:.' been given a 20 km. long route (one side) to run a Bus. The bus
costs for the ?oml?)aﬁnz) (;iosuréilo. ] z.,a(),()(.)O. It has been insured at 3% per annum and the annual road
;a:( (z)a(;zoux;t; tol.kd, pe 1 dst«;:die rent 1s ¥ 500 per month and@muml repairs is estimated to cost
an us l1Ke e N Hvears\ The cul.. NS ) \ i 8T :
mlc)),nth < y ks addil,ion);: ?Lb.jl (l)})n., a.fnlm‘y of driver and conductor will be ¥ 750 and € HO0 per
equally). The manager’s saiary 8?1 7 50 *2,9F the takings wx‘ll be paid as commission (to be shared
and Oil will costZ 125 per 100 kms 'l"he lf:l 111‘(1)111th z;\nd stationery will cost ® 250 per month. Petrol
: . o 18 w1 ake 3 1¢ '7‘»"";‘, o day earrvi 3 Nk iy AT P X
from each passenger per Kilometer. The Bus wil] pup oo | ge. LAiaiate the bUs 1are to be charged
S Wil run on an average 28 dayvs in a month,
P 5 :
5\ &
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Wastage of material in the process of production ? How it g
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What is Cost Sheeté How does it differ from the Production Account ? Explain objects of preparing
Cost Sheet.
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UNIT -IV/$&T8 -1V
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Goyal Bros. took a contract for the construction of a cinema Hall on 15t April, 2021. The contract price 20 “
was T 75,00,000. The following details are available at the end of 315 March, 2022.

e wed 3 1 3¥d, 2021 1 TF o T fmtn %@ % 3% faan 3@ qea % 75,00,000 =11 31 A,
2022 % Frafafea faewo ey 91

4
Material 12,00,000
Labour 4,50,000
Plant 6,00,000
Direct expenses 3,00,000
Establishment charges 75,000
Material returned to stores 75,000
Wages outstanding 90,000 :
Direct expenses accrued 1,20,000 N {y* \ iy M&& N § %ZZ ;:%ij
Material issued from store 1,50,000 : =
Cash received (80% of work certified) 30,00,000 ‘} :
Work uncertified 7,50,000 / %
Material at site 30,000
Plant at site 4,560,000

Prepare the Contract Account and show the amount that would appear in the Bgﬁano& ghﬂe@t , ;

%mwmmﬁamm@%fa‘gﬁﬁmwﬁ@wﬁaﬁvﬁyi

Explain the general characteristics of process costing,. Whm; ag) i

N T & 2 i e i e A e s



UNIT -V rgmrd W
=20

7,’/ Cabralsie
The smount of fixed expenses | f@ﬁi .4{:’ 4 ﬁ
The pumber of units 1o Break-¢ ferr
i Mol R 4 fuls KD
The number of units to earn a profit © , : :
any actd in twe periods “ ol gsite and B OO0 usite sl

{omp? i :
fit of T 20,000 respectively.
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The selling price per unite is T 120, The
has incurred Joss of T 20,000 and earne a P 25
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10.  Define and explain standard costisg, 1o e besefly the varanee e inting to aewtevinl
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